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.: Define Centre of Mass.
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Differentiate between Torque and Couple, W
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.li What is meant by Stop Walch? Describe about the digital stop watch.
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Prove the relation between Force and Momentum with the help of Mathematical Equation,
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A force of 100N is applied perpendicular on a spanner at a distance of 10em from a nut.
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 Find the torque produced by the force.
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| Determine the mass of Earth using Newton's Law of Gravitation.
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A car weighing 12 Kilo Newton has speed of 20 ms” . Find its Kinetic Energy.
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Define Stress and Tensile Strain. Alsowrite their formulas.
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A meter rod is balanced at 50 cm. Weights are suspended as shown in the fig, Find

unknown weight " W1 { by using principle of Moment,
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Thl. number of forces that can be added by Head to Tail rule are
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